December 25, 2011
© Yecheskel Folger 2011

R'"wnn 7
0°10D NOON
WY AYIIRD IR PO
' PO
97TV TN

7"02



1"'va

T T ettt ettt ettt ettt ettt ettt et e ettt te et e eteete et e eteete et e ettete et e eaeeteeateeteete et eeaeeteeneeereenreennens 3
Tl 0k e R 7 o SRR 3
LI 1 SRR 6
073 11" 7R NPOONI NPT TN NPT O 5T ettt ettt 6
L I [OOSR PR RURSRTRO 9
RITIT RDT RIVY MR oottt ettt ettt eteeete et e eteeeaeeaeeteeeteeaseeseeeseenseesseseenseesseessenseersenseensens 9
pr i 1720 2 e R e ISP 12
D TTATTD RINW 270 71N ettt ettt ettt ettt e ettt e et e et et e e e ereeete e teeteenreereenns 15
1 )T ettt ettt ettt ettt ettt ettt ettt e et ettt et e eteete et e ettete et e etteteeteeatete et e eaeeteeneeeaeenns 17
i) R 7ARe ALTA T e N Py b ST o i e o FO TR 17
37721 TV RY DT TN 07T 711 TD ettt ettt ettt et ettt ettt et ere e eereenns 23
NN Tr R k7 ks T R o TR 27
R i [ 29
bt 1o e e o RSO 29
i Faiela T aln Ll R e o H TR 34
g7 S Al R Ay U o KOS TRORORORRRT 35
faXnin b}z b tv72in 174ra R IR el By A o RO 37
oki7galiateah i 17408y e b Ty e o BRSO PURTRT 38
L 1 OO USROS 39
TV IARD 7" WY TVINT TIND PT2 R? DR T TN e 39
T ] Tttt ettt ettt ettt et et e ettt et e ete ettt e et ettt e et e bt et e eateateeteeteeete et eerteate et eeaeenteeareereereennen 42
(WADRD IRW 210 01 " DW YID2) PWTIARD DOR ittt 42
R e B I RPN 49
11277 PRD 12 77N R AR ROR 77N IR TR 73T DID0M e 49
fa ) LBt n s e IR 57
Ara iR A by Ll L e R by R o H TP 58
I L I OO USRS 59
phai7za) Babsdvrabaioalalaly 63 Sl i7alr i b ra Hy S o DTSR 59
T T ettt ettt ettt ettt ettt ettt et e eteete et eeteete et eete et e eateereereereenns 61
aimInTalR P R Sl b In R o OSSOSO PR PSR RPTRRRT 61
LRI L7 T e TSSO SPURTRT 62
falnli7Zinln b T Ry A B 7 OO 63
famInh A e v T R o H OO OUURSPORTRT 64



T T
7In NNl "

RAWITT WRY "D IR ORP KD DT BN "2 1 wpn AT wRy e nan a'Ta
RSO WITT NI VIDIT JID/RIT MDT WD RWPT 2maTH D Doy "2 MINRD o
IND2Y 77923 'INDT 3R MRY 12 RIDIT A1 0POMAY 39 NN 957 71023 29N5T NN NNI2 AvN0T
DNYNIT WIDOMT 01" 927 RIND JapD YRRRTD B 217 RIS DR f9ORY 19 NOR N1NIT R
TS NINIAT PRAWRT NINID T 12 NIV TN ORARY WD DIND FORT TR 00 1T w5
RWADIMT 7O O9ORD RO TITD N7 WIDMIAT 1IN 37O AR KDY TIAD N1T7 DR 1)
WD IRPT NINIT VDA NIT WIDM DD TIZITT WIDD w0 1O 712K RN 1IN NP KD
"1 RDIP RPDOT APRTD OPMAR RDUD AT TIAD MINIAT 21 IR 0IWY MIN1 IMINY NYMIN
R71250 SNRT RN217 B52 IRTIT "1 MM RIDMT RIP PINRD TIRT RNWT WIRT MR
a7 RIS IR 1P Y23 P2 No0R WONT RIS SIIRT 7T WD DINA 77 9O NP N
TOVRR ORAR TP WEN KDY RN R DD 17T MINY ORD ROR 79 wpn KD s '
PYomD 197 Brab w7 2R ROR 1AM SR RAP RIP 23 RINT D920 D97 2mn RAp ROpD
DYNI O DY KDY 1 NI MR RTOM 27 DaAR RN RIPR AW R T INKRY TR
bho 9 TBRR ORAR 2R 7R PMAR KDY TITD NINIR NN2D B0 a3 'Y T TR
ROV 31 77D AT W'D IND R b BT IR RUN2 ROPRT RRp RP9 RTOM 200

21971 MIMIR RIDIT ORP RDT 20 TN b

1) X
a) noRw
1) 737 7IRY yana DR P72
i) "9 17 RIn
b) 72Wwn of X701 20
1) vnnnpe72is also called "woon"
i) we’re 717

(1) ynn7 woon from the w151 that appears in this P105 (X»p 872): DR wWonR X nya"
"n1n12 e

(2) then for w15°m in R1p XIpP from M3 in RPp XP

(3) And finally for nm113 from >7°1° 91 in this P05 (XN2 X7p): 95 wow1 27X N '7 1"
n
102 "7

¢) 72wn of HRYNW’ "7 °27 RN
) "Rnp P R
i1) "RI02 Xp "
2) R"wan
a) Note that



i) The words of X701 27 (731 MN1) suggest that X»p R isn’t enough for his 717°7
3) X7naas explained by R"wnn
a) mIpn
1)  Whenever a Xin says "mx1 — 1"
(1) he means that essentially either 71%°% is enough alone
(2) But

(a) the ®in brings X7n2 X7p in order to avoid a vy by a 17 %1 against the 77
from Rnp Xp

(b) and the X7mx asks "R k1" meaning what 17 9¥2 niyv does the X1n mean to
be 79n with X702 RIp

b) So also in the &723 here
i) the X mx here asks to HRYHW> " °27 KIn
(1) "mx1 °&n namely
(a) What is the 17 992 niyv here against the 71%°% from Xnp X7p
(b) that HRynw> "7 °27 RN is 7151 with XN2 XIP
i1) And the X713 answers as explained by n1901n
(1) The m1vv is that
(a) in fact mn1aren’t fit for P72

(b) And the 109 of M1 teaches a X7p that m11 will be used to search °%w17 in
order not to find small My

4) mooin as understood by X"wain
a) e

i) We’ve established that from the W% of X701 27 it’s Yawn that X701 21 can’t derive a
719 from Xnp Xp standing alone

b) This is why moo1n asks for X701 27
1) why do we need X»np X7p at all
ii) be 117
(1) for ynn7 won directly from w19°1 in the X702 X3P of 71 71
(2) And for w15°1 in X7n2 X7p from *7°17° 71 in that 109
c) And non answers that
i) Partl

(1) 8702 &7p isn’t enough standing alone because it’s possible to read the 7105 as
meaning that 7"3p7 is the w97 — not the 71

ii) Part2



(1) And as far as why &7n2 &1p is needed for X70m 2

(a) apply the same 71vv on why X702 &7p is needed that the X713 offered for Xin
DR ' 027

(1) in fact mn1aren’t fit for P72

(ii) And &np R1p teaches a X7Ip that 11 will be used to search 0°2w17 in order
not to find small My

(2) with the exception that

(a) for Pxynw» 127 X1 we considered the 71w simply a 79 17no that didn’t take
away from the essential power of ¥np X7p standing on its own

(b) While &7011 21 says the 1vv does take away the power of X»p X3P standing on
its own
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1) 'R xn™2
a) TP°72 17278 NPODMY N7 TINA NPYINT AU IR AW
2) "axn™Ma2
a) P72 77078 PR NPODMY NN 037170 21K DXV N0 TIN2 DRI R MR 2w
3) R
a) Nwp
i) The mn»n2 are "Md each other
b) 11
i) There is no 77°nd between the NMnN»12
i) NOTNTRI
(1)
1i1) *RNN°NMT X7
(1) In the other Xn>>72 the bed is low
4) Mmoo — NKR*2 of the X
a) Inthe mn»2

1) The fvn is N°27 Y¥»R2 and to reach nN°271 0°19 a person needs to go either over the un
or under the 7vn

i1) And the nn>12 consider whether there needs to be 7p>72 for n°277 %10



b) There are two 2°217°0 to explain the y17°n of the X773
1) First w170 — there is better access to the inside of the room under the v
(1) Where the v is high off the ground

(a) it’s likely that the inside of the room was used by passing under the 7vn and
1P°72 1s needed

(2) where the 77vn is low on the ground
(a) it’s less likely that the inside of the room was used and 77772 isn’t needed
i1) Second w175 — there is better access to the inside of the room over the 7vn
(1) Where the vn is low on the ground

(a) it’s likely that the inside of the room was used by passing over the fv» and
1P°72 1s needed

(2) Where the rvn is high off the ground
(a) it’s less likely that the inside of the room was used and 7772 isn’t needed
c) Xowp
1) For Pw&1 w17°s that the issue is whether there was access under the v to n°2n 0°15

i1) Instead of saying that 'k Xn>72 deals with a high 7v» and '2 Xn»92 deals with a low
un why doesn’t the X7n3 say that

1) 'R XD*72 requires 172772 because there are no 0°128) 2°%y under the 7v» that block
q
access under the 1vn to the inside of the room

(2) While 2 ¥n»12 doesn’t require 772>72 because access to N°271 0°10 under the 7V is
blocked by 2°12x1 ¥y

5) v171°n of MoOIN according to the X073 and 7w wof 2"wann
a) X0 of ?"wann in MooIN

) T PR T awaw BY ynwn] ROX AP2T72 IR PR [20128) 20XY] 70 awaw S vawn X7
"T0An AN M2 MWL 717 PRI 0Wn [p°72

ii) Where ""%" refers to the 1¥7n who says in the X1pon that the 1°7 depends on whether
the fvn is X271 or *RnN~

b) In short ?"wann says that

i) mooin holds that even for the Xipon it makes no difference whether there are o°xy
NN 071N

ii) and all that matters in the X107 is whether X°271 or *Xnnn
6) X"wann
a) Two nrwIp to the Tvw of H"wann
1) First Xowp

(1) why does "2 072 mention 0°12X1 °%V at all



i1) Second Rwp
(1) 3%n o nOY o2 says that 0°1aR) 2%V are relevant for PRI Y17°n of MvOIN

(2) Where "nwi w170" means the w170 that the X713 deals with whether it’s possible
to have access under the 7un

7) Twnn of X"wann
a) X0 of MdoIn according to R"wAAn
1) 70A7 AN M MY 717 PRT DA ¥R 72772 TN PR 72 awaw V7 vawn K97

ii) Where ""%" refers to the jwpn of the Xnx before the 1870 answers that the "7 depends
on whether the 7v7 is X°9772 so that there is access to N°277 219 under the 7707

b) nvw of X"wan

1) The reason that the 7wpn didn’t say that the nin>72 differ because in '2 X072 there are
NN o°12R) 0°¥Y is because the ¥ hadn’t yet explained that the ™7 depends on
whether there’s access to n°277 0°19 under the 7vn

ii) But
(1) once the 7¥7n answers that there’s a difference between a high 7v» and a low 7vn

and the 17 depends on how much space there’s between the ground and the bed

(2) It follows that o°12%1 o°xV also affect the 17 because they reduce the space between
the ground and the bed

(3) and in fact

(a) the X713 could have said that the difference between the two nin»12 is that in
'2 Rn*°72 there are 0°32X) 2°%Y while in 'R X172 there are no 0128 XY

(b) but vPa *NNA XN
8) Twni of MvOIN as explained by X"wn
a) 9R17 1127 says that
1) Both min>12 say no 7p°72 is necessary
i1) The X713 asks that there is still a 77°no between the nn*72 because

(1) "2 ®n>72 says that p°72 isn’t needed only where access under the fvn is blocked
by of 22128 %Y

(2) '® ®n»™M2 says AP 72 isn’t needed even if there are no 0°12X1 2°Xy under the v
9) X"wann

a) It must be that HX11171 12°27 follows the first w170 that there’s a 7p>72 211 if there’s access
under the 7un

b) Because otherwise 0°1a81 o°%¥y aren’t relevant
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1) mwn as explained by *"wn
a) aperson needn’t be p712 every part of his house at the same time
b) oKXW
1) Why doesn’t he need to be 2712 again out of a wwr that
(1) while he was P72 one part of the house

(2) a 7791 he didn’t see took y»n from a part of his house that wasn’t yet ;172 to a
part of his house that was already 172

c) mawn
1) if you’re wwin that yan might be dragged within a house
il) 707277 PR
iii)) And you’d also have to be w11 that maybe
(1) After a person was p712 his entire n°2 at one time
(2) a 77910 later dragged yan to his n°2 from a n°2 in 171°20 7¥0 that wasn’t yet P172
2) X3
a) Nwp
1) The mwn implies that

(1) the reason the person doesn’t need a new 7p>72 is that he didn’t see a 7721
drag ynn

(2) but that if he did see a 77211 drag v he’d need a new 172
i1) yet
(1) another mwn says that we assume that a 9°1m 77231 would eat any 0°991 in
0°1372 72 MM

(2) why doesn’t our m1wn here make the same assumption that the 77911 would eat
any ynn that we saw it drag



3) X"wann
a) nTPn
1) The mwn here relied on two factors not to require a second 712>72
(1) that the P72 didn’t see a 7720 taking yn
(2) and that m0 7277 X if we were to be wwin that there was a 772117 he didn’t see
i1) The &7n3 asks only that
(1) given that a 77791 eats what it finds anyway
(2) the 17 ought to be that he needs no second 112>72 even if he did see a 772117
b) ®wp
1) Why doesn’t the &7 also ask that
(1) given that a 77721 eats what it finds anyway

(2) there ought to be no need for the 71wn to rely on 710 7272 X to decide that
there was no 7721 he didn’t see

4) yn
a) Partl

i) Wherever 710 1272 X applies it’s a mww»d from the mawn that no 772 is needed
even if 9pw7 X111 and even without relying on the 71vv of "n%ox

ii) So the &3 doesn’t ask its X*wp from 0"y M7 to a case where 710 7272 PR
applies

b) Part2
i) noxw
(1) Where in fact does the mawn need to rely on 710 1272 PR
il) mawn

(1) 70 7277 PR is a mww that applies only to two 0°n2 where the person in one n°2
can’t control when the person in the other n°2 makes his rp>72

(2) But within one n»2
(a) Mo AT we

(b) Because it’s not too great a burden for n°2 °12 to be 712 the entire N2 at
the same time

c) Part3
i) And

(1) it’s in the case of a P72 who wasn’t p712 his entire n°2 at the same time and
who saw a 177911 who was a1 n77 from a 297 in the n°a that wasn’t p721to a
0P in the n°a that was already p721

(2) Where the p712 can’t be 7210 on 710 1272 PX

10



i1) That the X713 asks that
(1) because of the My of "n7ox
(2) there should still be no new 7p*72

11
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1) mwn as explained by *"w"
a) aperson needn’t be 712 every 0p» in his house at the same time
b) because we’re not w11 that
1) while he was P72 one part of the house

ii) a 777 he didn’t see took y»n from a part of his house that wasn’t yet ;172 to a
part of his house that was already 172

2) X3
a) TPn
1) The m1wn implies that

(1) the reason the person doesn’t need a new 71?72 is that he didn’t see a 7721
drag ynn

(2) but that if he did see a 77211 drag v he’d need a new 172
b) xwp
1) Another mwn says that
(1) @2y M7 are XY because 0™"dY bury 0°991 in the MmN
(2) but
(a) the M7 are NV where T2a% P12 I 7790
(b) because the animals are assumed to find the o°791 and eat them
ii) Why in our mwn don’t we also say "n?2X and 77p°72 X 1R even where 2pw7 R
c) 71nof Xa1
1) 1in the mwn of ™2y MMM
(1) we don’t know of any actual o°951
(a) and the po0 of "n%5X can be XX from 91 P50
i1) Contrast the 11wn here
(1) where it’s a °X that a 7721 dragged yn
(2) And the poo that maybe the 7791 ate the v can’t be X7 77 XX
d) xwp

12



1) A Xn»71says that
(1) the M of @ Nnw 12 are PIPINH NPT
(2) Because Wwyn poo is 720 ORTY MO0 RN
ii) Why don’t we say that *X71 >7°n X*X11 PO PR
e) yIn
1) There is only a "wyn poo
i1) because
(1) 79w Y2 702101 RN PV TR 0Wn
(2) wynn 1 70D NPIIR M RINW 272
iii) And it’s understandable that 2wyn po0 is 220 PHO 7 KX
3) Moo at NP AT RANw 7 7"7
a) Xwp
i) Even if the nnw 121 was 0°wn and was 77w 7112 02107
(1) the nx12n would still be o7& N9°IR? MNOX in a ¥yap NTIWO
(2) because it counts as 131277 920 X7
i1) so
(1) for nnw 12n where the 812N is OTR N2°OK? MK
(2) The %wp remains how it is that
(a) the poo that the X120 was WYn
(b) is 73297 %20 RTY >7°1 ROXMN
b) v1n

i) the X nx assumes that in the 73wn on y»n there was no 210°2 so that the 7p°72 2117 is
NRNPIRT

ii) the 777 of *X71 71 XX OO PR applies only to RNPIIRT X7
4) R’wAn

a) mPn
i) there is no 2"2¥ NN NXMAW at all in YIR? YN
ii) and even in PR IR the 8™ is only 11277

b) Xwp
i) When the X723 tried to prove from 0"y M7 that X7 > XX POO
i1) Why didn’t the X723 answer that

(1) this *X7 71 XX po0 applies to 2"1DY MM only because the XMW is only
11297

13



(2) unlike the m1wn where the 7p>72 211 is XNMMIRT

14
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FIRDTI AT 12 DROWOD 1D PR IRRY AR 72 OROD W PR TNV TN IRT 9D
bR SIRIT 9D 727 72 7NV AR PRI DROROD 0NR INBY A IRRYRA TN 0N T

$9''PY "D PR R P 772 YW B P10 '0IN2 30 NRIM W N9

1) X7nxas explained by nvoin
a) A person can be X120 97287 that’s not w1 wn to his 7n2 only 7n7vna
b) xwp
i) v 92v generally isn’t X172 MOK anyway
c) YN
i) v Pav is 95 Hw K12 MR based on the following wpon
2) anTpa to the wpi
a) "MnY IMmn is N for 797K only to a 13
b) nXAL 217N is NN only P27 and only to a 372
C) RN MmN is nMn for other NIXAT to DR 92
d) 77w 92w is 79°282 MOX even to a 172
3) The wpn
a) Xp
i) MmN nanwn DR 009 NN IR
b) w7
1) 7IRPY DRI TN DR 9271 2007 NIMIN w2
il) We’re wopn these NN in the following two 27117
c) 'RTm°
i) AL 220 1YW An0T 0107 R 3907 NYWn ROK 72998 MOT 1797 12 PR 7700 7100 1
i) R 220 ITIWWI 777 °192 KRPY AN NYWH ROR 270 NIOT 1792 12 PR ARND 7170 AR
d) "27mb

1) 7P2772 1792 120K 7001 KL 220 1WA 277 27IPT 'R TR0 1aRT ARAY 2100 )
93 YW IRIT ROTW

i) 5910 %0 Hw R 922 7797 190K 0N N0 220 1WA 7277 27IP A0 31N AR
NARY 12998 PRI

15



4) nmpoin then notes that

a) N YD platatyimiplivhint\va vl \on 74 PRT JPUT 521 ROOmM
5) H"wann

a) MooIN means that

i) Once we’ve established that 23770 %20 is "9 5w 78372 MOXR" both for a 375 and a
RS

i) It’s a 10w 95 that

(1) to a PXW> a M?°> YW 7RI is NOR also after 777- when the MY 22w has
become M7V 71N

(2) And "%3 5w nX17 includes 2% 77170 91N SPWID PIRID
6) X"wann
a) Nwp to ?"wan
) 77 R IM 9P ORn
i1) there’s no X720 that makes it more likely
(1) for 71177v 717N to be MR to a PR for a M3 KW R
(2) than for M0 %20 to be MK to both a 172 and a PX7w> for a »12°> YW IRIA
b) =X°2 of MBOIN by K"wAAN
i) From the wp>11 we also derive the following two additional o>7"?
(1) '3 7m°
(a) 719738 M7 72 PRI PR 1M 229K MIOT 07 72 wOw 370 N
(b) P27 M1 72 DR PR AR MOT 1797 72 WO ARARY 9N AR
(2) "7 7
(a) ™22 5w R RONW AR DRAWSH 00T B 70002 YA ARNY 7N M

(b) 1NMI27 929RAD 912 M9 YW ARIT 292 197 A9 T2 PRIWSY 00D 77170 10N AR
pr) Vel kii7inle)

16
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[72982 2'"7] RIN2 O RO ORDY ORTY TR NOZM "D AT PED RTIRGN vpIT
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2"
1) mwn
a) 0"M>DY MMM are XY because 0™dY bury 0°991 in the MNT»

b) but the MM77 are MV where 2% P212° 1M 77210 because we assume that 77710
71 find the 2°991 and eat them

2) ®n12
a) Iwyn
) 2% Ho1 a2 0aw nnowa
i) 7R7K? 9511 M2 PO 170 K
iii) 1787 XD 7"OKY QW PnT WOR)
b) Now

i) If the 991 was in the 712 when the 372 was 2°7%» over the M2 it’s a M w» that he’d
have been Xnv1

ii) But the 375 is 1Y because we assume that 027721 7177917 had been 771 the %91 from
the 712 to their 71 so that the 372 was never 2°7%» on the 791

3) "wn
a) Nwp

i) If the 7 isn’t mdY M9 the 77 counts as a DINO M2 whose IRMY is 72 NYPI
upwards 71121 meaning to the edge of the ™12 over the "1
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4)

5)

6)

7)

i1) And there’s a poo that the 775 stood directly over the 7117 at the edge of the 112

iii) So the 175 ought to be Xnwv o0 even if the 097721 77211 were 73 the 991 to their
N

b) y1n
i) The 7 of a 121 737910 is 7oV MBS
maoin
a) Xwp to"w"
1) If the 7 is 1oL MO presumably the passageway from the M2 is also rdY MNB
i1) And a passageway of Mo nmpd is X2 the AR from the 77 back to the M2
iii) So 1717173 doesn’t avoid the 278 nXMW from 727 2%
oMy
a) 717N to the X°Wp of MooIN
1) Although the 7 itself is mov nM>
i1) the passageway to the 712 isn’t 11dv MNB
R"wAmn
a) Mmoo doesn’t accept the y17°n of 2"win because
1) if the passageway isn’t oV N>

ii) the 7M1 counts as a 010 72p where the IRMY is 77 Y212 even where the 17 itself
is DY INB

Twni of the X3

a) Xwp
i) Presumably it’s a >X71 that the nrow was °bn a 991 into the M2
ii) And it’s only a 50 that the 991 was dragged into a 11
iii) How is it that the poo is *RT1 >7°n XX

b) First y17°n of the X7n3

i) In fact there’s only a o0 that the anow was 2°vn a 991 into the 112 because what
she was ?°tn might have been only a mn

ii) So the poo that 311773 is XX from a 991 o0 and not from a 51 *XT
iii) Note that
(1) In this case it’s only a X250 po0 that there’s X nXmw from 27 210
(2) Namely there is 28 nR™WY from 7127 0210
(a) only if the nnow was 7°57 a 991 and not a MmN
(b) and
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c)

(i) even if she was 2°9 a 991
(i) only if @ 97721 77911 weren’t 73 the 91 out of 71277 010
Second y17°n
i) It’s a X7 that the oW was 2°un a 991 into the 712
i1) But
(1) it’s also a °X that the 097721 77211 were 73 the 91 from the 112 into their M1
(2) and "X is *RT 770 KX

X737 '2 717N XA 'K P10

A DT 3T RN 79997 901 0RN 07197 97R NRMIVA RAVIT RP*O0 PHO ROR KM 1799 ¥
799977 19X 12°OKY 7127577 N7 N 91907 120
7712 373 PO0 991

8) mooIN

a)

b)

lak{zhl
1) ORTIOTH RN NNV 0’277 MWL IRMIY POO
ii) But in 77 MW even a Xp 00 290 of XMV is XAY
Rwp to the first 717°n of the X7
i) Ifthe M2 is in 2°277 MYA
(1) why did the ywpmn think that to be 27vn the 175 shows that "R *7°1 X% PoD
(2) when
(a) the case of the 791 is different because it involves IR0 °1°7
(b) and we’ve established that in 2°277 M1 in fact "X71 7" R°Xn 250 for 7770
ii) And if the M2 is 77 Mwna

(1) Why does the first y17°n of the X731 accept that the poo of 111773 is XX from
the P90 of 991

(2) When even a Xp*0 po0 that there’s XY is enough to be 777 MWw12 Xnvn
1i1) Note that
(1) none of these NP apply to the second 717°n of the Xna

(2) since this y17°n says 3773 K7 and it’s a MY w» that the 173 is MY even MwM2
™

y7°n
1) Although in general

(1) even a Xp*d0 o0 that there’s XMV is enough to be 7r 7 MW R
1) Still

(1) Where there’s a X050 50 and one of these M o0 is a 2°2177 PO

(2) The Xp>50 PO is N7V even T MW
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ii1) In our case

(1) The M1 is in fact 7mn NWwa2

(2) The &p°50 poD is

(a) 7%°07 M1 PoO 79°97 91 PHO

(b) And
(1) even if 7172971 791
(1) %77 poo

(3) and 1M1 90 is the 97377 poO

X737 "2 717N

X737 'K P10

1173 097721 T ORTN 72757 91 KN

20197 2AR NRAIVA KAWLIT XP°O0 PO XIX XD
712577 19X 19998 779077 M7 N2 1977 120
7712 373 POD 991

i=rAhRhii]

15 90 DY QR 7O MWN2 M2 1217 1MSOIN
PED YTMMA PEOT 2R RPIED PEOI TR TS
Rankatah

d) Xwp to the first y17°n of the X

i) But assuming that 3775 °%31 are also 7°17°7 mwa2

ii) There is this X200 o0 that 8w of the 991 is 771 NP2 and is XnvA the 175 from

712% ¥ meaning from 7127 °2M> over 1

(1) 7%°577 M1 poD 79577 991 PO

(2) And if 79571 991
(a) poo that 17112 1M

(b) And poo that 1772 °237 are directly over the 11

ii1) and we’ve established that

(1) although *"w has a y17°n to this X°wp that’s explained by 2"w1n

(2) Mmoo doesn’t accept the explanation of "w7in

e) first y17°n to the X°wp of N1vOIN to the first y17°n of the XA on where the 175 stands

i) 372797 are in 0°277 MWYA

i1) So that to be 77v» the 772 any one of these N0 is enough

(1) poo that the 117 isn’t 1237 7

(2) 7%0 M1 pod
(3) Note that

(a) mMooIN can’t rely on 171773 XY PO

(b) because we’ve established that we need 171773 o0 as a %771 oo to avoid

2R DML from 7127 0919

f) second y17°n to the Xwp of MdOIN to the first y17°10 of the XM on where the 175 stands
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1) The 375 stands 7r°7 mw"2
i1) True
(1) the poo that the 71 isn’t 1737 723 isn’t enough to be 77vn the 170

(2) and that 1% 171772 P90 isn’t TwVN the 175 and instead is 7°097 the 1715 because
it’s the Y773 P00 that raises the question that maybe the 373 is standing over a
71 to which the 77917 was 771 a 991

iii) But
(1) there is a 2°3177 P50 of “n%oX that’s in favor of 777w
(2) so that

(a) in combination with the poo that the 772 isn’t standing directly above the
an

(b) there is a X{*0 P90 to be 1N the 3770 and one of these NP0 is a 2°377 PoO

(3) and we’ve established that this combination is enough for 7770 even nMw"2
™

iv) note for the first ¥17°n of the X732 that M7 P90 is yet a third 790 in favor of 777Y
9) X’wamn
a) nTpn

1) refer back to the second y17°n of the X713 that in the X072 the 175 was held to be
170 from 77X NRMAIW because XTI V71 ROXID R

ii) namely 171773 °RTY was X°X11 from 991 °RT
b) Note that
1) For this y17°n

(1) it’s a 1ow 2> that Mmoo should have asked that if 3715 *937 are in 7°1°7 MwA he
should become &nv because of the poo that the 7117 is 1231 nrn and the R
was 1237 721 79 nypia because

(a) First
(i) It’s not a poo that 1777 ¥17»
(ii) It’s a *X71 that 17712 3173

(b) And also there’s no M1 poo

i1) Butit’s a mu w» that M»do1n understood that here too there is a &p°50 750 with a
5°3771 P90 in favor of 777V

(1) First

(a) Although 1m773 8N

(b) there is still a P50 whether 1771973 to a M that’s 19937 721
(2) Second there’s a 2°377 P90 that "n%aR
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d)

ROwp

1)  When the &7 first asked how it is that the Xn»12 suggests that the P50 of %1773 is
XTI 2T XXM to be 7un from PR nRmY

i1) Why did the X713 assume that it was the o0 of 171773 that was X717 XX
ii1) When the X713 could have assumed that

(1) it was "n9aX o0 that was X1 "% XX

(2) Which is the same 90 that the 71wn of 2™y MM77 relied on for 777w
YN

1) The & 13 realized from the start that in the X1p0n we’d have to rely on 31773 pod
for the second v17°n of the X71x because

ii) Although

(1) We’ve established that by saying 171773 *X71 we understand that 77 XX 'R
&7 and that’s why there’s no wwn of 21x nxmY from 7127 %2

i11) Still we’ve also established that

(1) in order not to be wwn that the 175 was Xnvl from 7122 P in 710 DWW
despite the wwn that IR was 72w nvp1a to where the 175 was standing yinn
R

(2) we need to rely on there being a P50 that maybe the 717> wasn’t 1°937 nrn in
combination with the 773777 P90 of n?aR
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"2 TN NN ywn nta n"1n

5"op "D 2"MDY 792 RIRIW UWMAY 217 MR TR RIRIAY "2 nvuan v uen a''Ta
NOORT 2MWH "0 902 RIMAI W2 WP ROWP KD 2197 MR TR NIZRIAR mwwsan
7991 RD DT IR 2IPRR 920U DVIT JBNT DY YO 920Y 02 RINIT m

9P "M 1T KRR ER 25D 792 REMAI RAPINTA DAN NYoapT apna peon

BOY DIT MOINT PRW 0 RIAI2N PE@PT T AP0 RAW DY an7 10 3" 7R
SRITD 9D 1T KD NMIYOAP 2PN POOT TON T YTONIT TRADIT RO WIDY 7R 90D
MYoAP 2IPR2 PO THII KD RBPIDT 2 ROR PITY MONRT PRY 2% RINID RAYY
W ANDW 72 2°1I93 N MIRTENT 22 73 P '0INT 92T Dan 72 1A N®
SRAY DY WD RIWP IV MY 2PN THI PEONT RITY ROW T D' 71T Imwaniy
1TBATY RIAID A 2T DA PR P RAR 7702 AT MTIT ITWADIR NS AwnT

9''mY P1APT 2 2N IPY RAW 792 T3 KD ITY MOINIW 3190 R¥Al panb

1) First anpn
a) For a poo that was 9272 790 in its "y12p opn"
1) By way of example:
(1) Nine nan sell qunw w2 and one sells 79°21 w2

(2) And a person who bought 7w2 in a min didn’t notice if that min sold "w> w2
or 117°21 w32

b) We don’t go 2171 702 to be 7°n~ the 727
c) But instead treat the case as 7% ¥ 73 where RMOR OO is X7
2) Second nnTpi
a) We do go 211 7na if the poo was 721 after the poon 727 was w19 from its 112 21pn
b) By way of example
i) For 7wa that was n1°ann 172 XM

(1) Where we assume that the person who actually bought the 7w2 noticed from
what ¥12p 2pn (namely from what nr) he bought the "wa

(2) and the poo was 7711 when he dropped the w1 after it was w15 from the nin
that was its 127 MpPn

i1) We do follow 211 to be 7°nn the w2
3) X in PN
a) 2177 MR PO for M01 T2 RYMIW W3
b) Because the Ppo was 7711 when the w2 was w719 to »21 7 from its ¥12p 0 in a NN
4) X713 here as understood by n1vo1n

a) If there are "ynn 2w 70X 7¥n 2w 112°% ywn" and a 70175 was 920Y 52 R¥M)
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b) The P90 counts as ¥12p DIPHA 7213 and XIMINH RNOK POO
5)
a)
1)  Why does 1721 7°2 X¥n1 count as w15 while 725¥ *52 X¥n1 counts as ¥12p
b) 710
1) Partl

(1) If a 1272 poO is 7711 at the moment it’s w1d from ¥12p 01 — and a person sees
this w9 while it’s happening — the case still counts as ¥12p D1p»2 771

i1) Part 2
(1) Now
(a) Where 120y °52 Rxm1
(i) the poo in the 70119 was 791 at the moment the person saw the w9
(i1) namely when the 123¥ took the 70175 from its ¥12p 1P in the P2X
(b) but for 731 772 x¥M
(1) we didn’t see the w5 of the 7w2a from the nian to 121 7
(ii) and that’s why we don’t consider that the P90 was 7711 in the nian
6) X"waanatunn"y
a) Nwp
1)  Why does mooin need to ask its X°wp for 125y from 121 702 R¥M1

i1) When m»doin could more simply have asked its X*wp this way from our X210 on
nYInT P2 RX¥NI:

(1) Why is it that for 725y 52 &x¥n1 we don’t follow 217
(2) While for n1°ami 12 Xx¥n1 we do follow 211
b) N

1) If mpoin had asked its R°wp to 7120¥ from N1 12 R¥M1 we would have answered
nmywva that

(1) Where we can be 57930 that the o0 was 7711 at the moment that the P202w 127
was taken from a ¥12p 0)pn the 17 is the same as if we saw the w9

(2) And that

(a) for 125¥ we can be 790 that the P50 was 7711 at the moment the Ppoaw 927
was wd from ¥12p 2pn

(b) while for n1°1m77 1°2 R¥M1 we can’t be 7110 that the oo was 7711 at the
moment the P502w 127 was w1 from ¥12p 21Pn

i1) that’s why m»oin prefers to ask its X°wp to 125¥ from 121
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(1) where for >721 the same as for 222¥ we can be 7710 that the 1272 P50 was 721 at
the moment it was w719 from its ¥12p 2P in a NI to *21 7

(2) and still 27797 2nX P
7) XImxin 0°na7 and PN
a) 17
i) DMM7 NINT2 2172 129WNIW HP0IT MW IR MINAT NMIRLAN NIR
i) 2172 °%12 891 1710 1M because the P90 in each 772 was 7211 in its ¥12p Dpn
b) ®owp

i) W17 W01 — why can’t we cause some of the nwana to be wMd from the opn
12p and then use those that were w19

8) mooIn in o°nar and 1711 add the following 719017

a) 7171 means to move the NnA2 in such a way that it can no longer be said that the
PDD was ¥12pi 21pn2 7o

1) Either

(1) because the nn3a are rearranged "5 73" that the o0 isn’t the same po0 it was
before 171°7°°1 — as X"Ww1nn seems to say here

(2) or because the person doesn’t see the mnia as they’re being moved so it can’t
be said that he saw the w15 from ¥12p 0Ipn — as the words of N1DOIN seem to
imply in 2°127 and 170

b) note that N1901n here does not set out this 719017
9) moon here
a) Nwp

1) Why does the X3 ask that >71 ought to count as w19 and that we ought to follow
amn

ii) After all the po0 was still ¥12p DI3pn1a 721
10) X"
a) Note that this isn’t a X°wp for M0 in 0°721 and P21

b) Since we’ve established for mo01n there that the X713 means to be "171°71" in a way
where it can no longer be said that the oo was ¥12p 2pn2 791

11)7wni of MmdoIN here
a) 71N
1) Part1
(1) For 7ma a1 127vn1w mna1 it’s only 731277 that there’s a 313p 17
(2) Because
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(a) Rn»MxTA the ¥12p 17 applies only if the 710°X was 17> when objects were
first in their ¥12p 01Pn

(b) while here the mni2 were 27vn1 from the moment they entered their 2pn
y1p

i1) part2
(1) And that’s why it’s understandable that the X713 asks that 1773711 172°w221

(a) Because even though a ¥12p 17 that’s Xn»7IXT continues after w12 if he
sees the w7p

(b) This shouldn’t apply where the ¥12p 7 was only 71277 in the first place
12) qwnn of the Xmx in P20
a) y1n
i) The Mo°X for *7"1is a 77713
i1) We’re wwin that
(1) If we’re 7°n» the mnna that were 771

(2) People might be 2n°i1 77 also to take nana that weren’t >7°°1 and that still
have a ¥y12p 77

13) qwni of m»doIn
a) Nwp

1) Why aren’t we also wwn for X¥n12 for n1nn P2 that maybe he’ll also be 7°nn for a
¥13p 17 where nan 1 npb

b) 117’0 as explained by X"wan
1)  We assume that a person won’t be 707 777 in a ¥13p that’s Xn»7IR7
ii) And we’ve established that ¥12p is Xn»K7 where N1 11 1p?
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NISIE MY 12" 2" TN

20D MRBT HYaY Doy ONPOR mmh X997 5''5 1A 250w "o misp 2w a''Te
SRTY MMWT 2P N2 TIAT AN 1D RVWR P2 MWRT RT 927D WL 0T

1)

2)

3)

4)

"R B oy RYRWR
71wn as explained by *"wA
a) aperson needn’t be p712 every part of his house at the same time
b) because we’re not wwIn that
1) while he was 712 one part of the house

ii) a 7791 he didn’t see took y»n from a part of his house that wasn’t yet p72 to a
part of his house that he was already 712

N2
a) The mwn implies that

i) the reason the person doesn’t need a new 1p>72 is that he didn’t see a 117917 take
yhn

ii) but that if he did see a 77211 take Y he’d need a new 72
mwn at.v a7
a) 0"y MMTA are Xnv because 0"OY bury 2°791 in the MM
b) but
i) the MM 77 are NV where 2% P12 I 770
ii) because we assume that the animals find the 0951 and eat them
Riplab
a) Xwp
1) Why don’t we make the same assumption in our 71w» on Y11
ii) Namely that even where he saw a 117711 take y»i he can assume that "n%ox
b) y1nof X1 ™
i) A 7797 or 02772 isn’t W2 7w but is yan MW
c) Y1 nofXan
i) A 1797 can be 7°wn both w2 and an®
ii) but
(1) In 2"y n77 it’s only a poo that there’s a 991
(a) And that’s why X7»wn X?1 "n92I1X7 P50 can be X*¥1 from 751 Poo
(2) in the mwn here there’s Y11 °X71 because we saw the 77711 take ynn
(a) And that’s why X1wn K91 "n92187 P50 can’t be XX from yamn *X7
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5)

6)

7)

8)

X3 here
a) The facts
i)  PIT2I0R TR P72 TR QN2 I PR DW TARY 782 QW TR PN2X W
i) 9219 oM DY o0 o YT RDY YR DpWw TR 787 DPWw TR 07208 21w IR
b) XvaR
1) Does he need to be p712 the n°2 again
moon as explained by X"wn
a) Nwp

1) Why don’t we assume that the 720y ate up the y»n since there’s only a poo that he
was 9V to the p172 n°2

i1) And 50 71 R*X1n P50
b) y1°n

1) The X°v2°} applies where the 0732 of yn were too large for the 123y to eat up
R"wATn
a) first y37°n of Mxnn Sv2

i) the X210 here follows X7°1 "1 who says that although X wn X w2 still R wn yan
717°n of @WwDn W in MINAA HYa

a) Although X271 says it’s only a P90 that a 7721 or 02772 will find and eat a 991 without
W

b) X127 holds that it’s a NIXTY that an 9235¥ is wn
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2V 790 2" TN

B 5oy "2 PITA NPIAN RPN 'R RPIDD RUR K2 "2 By pEo ''7a [R 7wy a7
by XD RRRY DY RRWT MR PO02 WIDR RWT 2172 NP2 N0AT 90 Suoa KD ONT
PRITT 2''52 JARTD ANPIAN TP MR MNTIR PEO D57 AT NPIAR 9 JmMpn
S9RT MWNIDD TR NI RD "D 239172 29N2 "2 MIETY pRn DR 'R Maxa ol B
SIRRIY PED AIT PYIAR UW 1D 2172 NPIAN N2 B2 J1mpIn Dua RYa W9IBNT Suaa
QIM20Y '2T TR PIT MR DWI2 KU OPOD 17 Y TR NPT XN2N o jmpnT 12
m2> Buaa RPIT a9 JMPIRT "D MBI ab 3R maTaT "o van Dpw 'Y Rn bpw 'R
MDY 27 RO DT 2D RITTR '0INT WD N NP RO anTT 2R 1207 T
DaR N7 AP R PRI RIT POD IDIPA BRI AT WIONPIAN PO OPIN MIMD ROWT
D NYAIN IRt D2 W' ax 2" Y NP RN2X DY 90 MR PP9haw 'aT RO
SRR N NPT T2 DD MBI 2T 7 DAR N123 DOD 0 NP RDIN PR 'aT v
P17 TR N2 BY PDO2 K97 TR ROWRT RIOI KDWY DT P50 12N0R RHyY
2902 '22 BY pROR RO 7YY PITA NIRRT DRI 0 MR D2 Rba Y9N
YD ORWP T AR D22 DINWD IN2 KD AR N7 DPIa R jmpn p''ahT avpiTa
ROTY 70 DPIAN TARINT 2R K123 B2 PITWRT 7102 IR™IW POOD DWh wh nTaT
PDO2 19IDR ORTY ANTTT T N2 INMWY PEOY 190 71RTR DY [UTYT AN Nva2 BN

2T RY 2w "D PRINT P TN WD APIAN 90 JmpR DT RRY KPIED

1) First anpn
a) the 2m to be ynn P72 is XN»7RT if there was no prior 7102
b) the 21n is 131277 if there was a prior 710"
2) Second nnTpa
a) "npI an2 Pon" on a MoK PO even if the MO is RNPIINT
b) It follows that
1) Ifanoais ?72 npina and there is a P90 whether a 772°0 forces another 7P 72
i) 7p*72 NP N2 1o even where there was no prior 71122
3) Here are four related N1y2X in the X773
4) First X°y2R — "P28 ywn"
a) The Xy2R
i) pnan Hw InRy 9%n 5w P2E ywn
i) 2pw ynm R Hpw %5 R 1V KD 9P D20V RO
b) " as explained by n1vo1Nn

i) There was a prior 712 and a prior 7p°72
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ii) And the 798w is whether 33297 there’s now a 211 to be p712 a second time
c) Moo
1) Xwpto "wn
(1) Since there was a prior 7p°72 the n°2 is P172 NP2
(2) We’ve established that 7Pt 902 15937 even for a Xn»7IRT oD

(3) So it’s a 1w 9> that 7P N2 179917 for a 131277 o0 where there was already
paiep!

ii) Y™ n
(1) The ®v2°X is whether the 710179 that the 925¥ took is 77°582
(2) Where p172 npin isn’t relevant
5) Second RY2R — PN2Y W
a) The facts
1) PIT2IRW TR PI72 TR O°N2 CIW D°ID PAn DWW TARY ¥R YW TR PNDX I
i) ynan opw R AR Dpw TR 0°120V P IR D12 NN
i) 22 ORAY O DYV ORAY O VT R
b) The X°v2R
i) Because there was prior 71°2 the 7°72 2111 is only 73277 in the first place
i1) The X°¥2°X is whether
(1) There’s a 7312771 21°1 to again be p712 the n°2 that were already 172
(2) Since
(a) unlike the first X°v2R
(b) here an 7120y with y»n certainly went into one n»2
c) The &7n3 is vwd that
i) mowp nwrn
(1) 73297 72070 5w DARY PN PW R
(2) 713297 7200 2w IR PO HW TR RO 1Y DI
(3) 128 7IN2 19K 19EN

ii) Where the 1>7 is that P because "X X" that the 19211 1780 fell into the nop
1911 and the R0 of 131277 7m0 fell into the 797 of 131277 71N

iii)) Now
(1) The 7771 of "X *1xW" applies to every 131277 P50
(2) So
(a) in our X°¥2°X that also deals with a 13277 o0
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(b) Based on MK "1Xw we also assume that the 925¥ that took y»ri went into
the n°2 that wasn’t yet p172

(c) and the n°a that was 172 needs no further 7p>72
d) X"wm
1) XWwp to the v w of NvOIN

(1) why does the &7 need to rely on "MK "X instead of relying on p172 npin
that applies even if there was no prior 71022 and the P50 is Rn»7IRT

(2) and why doesn’t the X3 rely on 121 npin that applies even to a X 7IRT o0
where the 72170 is RD™MIRT 7270

ii) y1°n

(1) We know that the 120y that went into the n»2 that was 172 brought in a 732
that was y»nn 200 and itself had no 2037 npin

(a) So it can no longer be said that the n"2 as a whole is 172 npIM2

(2) Similarly we know that the X0 that fell into 1217 n2I2 was a 72170 P90 and
had no 771 npin

(a) So it can no longer be said that the 79I as a whole is 721 npIna
6) Third ®v2R — "9 OR7D KR DY ORI R YT RO
a) nnTpPn
1) we don’t follow 7770 DRI in 70 MWD
(1) and as a result
(a) except for the case with which 71v°%% "1 deals as we’ll see below
(b) even a X950 PO of RNV is RAVA in TH MW
i1) we do follow 7770 NPT in 0°277 MWYN
(1) and as a result
(a) even XML P50 — not only a RP 0D PHO of ARMIV — is MV in 277 MY
b) The X°y2R
i) TPIT20°N2 1w PO VAN DY TR X
i) PY ORI OR DY ORAY R 197 XD DpWI 120V RDKY
¢) nwWn
i) 7w w un

(1) 791702 X2 MY WYY 172 TR T2 N0 TR RAY TAR 02277 MIWN2 PR I
MAaL [y "1w2

(2) 70 MAXY °192 N 1ARY 2192 7T 19RWI OXR
d) "wn
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i) There was prior 71°2 and the X°¥2°X is whether there needs to be another 7p°72
11277

ii) We’re w19 that neither n°2 needs another 7p°72 because for 11217 7p>72 we’re 790
X21P° for each N2

e) MmooIn
i) there was no prior 210°2
i1) the X¥2°X is whether Xn*71X77 there needs to be another 7p>72

i11) And the X713 is VYD that no 1p°72 is needed because we’re 71210 on 7P°72 NPIN
even for a RN»IIRT POO

f) x"wann
1) Xwp
(1) why is it that for the second &°¥2°X of 1"112°X '2 and m»p 2
(2) the X3 doesn’t go mpin N2 if the P90 is RNXT
i) 10
(1) We’ve already explained that

(a) in the cases of 1"112°% '2 and M9IP "2 it’s a MR that a P50 entered each N2
and each 191

(b) so it can no longer be said that n°a that was 172 np1n2 has a fp>72 NP or
the 19117 N2 has a 1710 NP

(2) Contrast

(a) Py °R717 R DY ORI2 K V7 XD where for each n°a there’s no mXT that any
125V physically entered and there’s a an°1 npm if 77 0K AT 9RWS? W2

(b) And 792w "2 where each person has a 01 NP1 where 17 nX 7T 9XW°? W2
7) Fourth X°y2°X — "5y X2 poo 5y poo"
a) The Xy2R
1) A person saw an 122y with ynn
ii) it’s a poo whether the 120y was ¥ into a 2172 n°2 where there had been prior 71122
iii) And the 798w is whether there’s a 21°11 to be P72 the n°a again 3277
b) The 721wn
i) 77ofnvpa
(1) 197 2Pn2 °No9 SR AR NP TTW ARV DMAWAT N2 7YP2Y 01037
(2) NDI21 RY ORI 77V 77NIR2 *N0IDI AR VI 1R
(3) MYOR " is N
(a) Because T1y°9X ' says that Tr°7 MWI2 RP¥00 POO is NV
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(b) And for a reason not relevant there is a X*50 po0 here

(4) oonom
(a) The person is Xnv
(b) Because 71 mw2 there is no 7770 DRI

i1) but
(1) for v poo where there was already 210°2 and there is only 131217 Po0
(2) o°nan are 7T that X7PY 11°%n and there’s no need to be p7a further
8) nmpoIN at %y poo 11"7 as explained in X"wAnn
a) Xwp

i) "%y poo" is more likely 71770 than either "1%°2w "1w" or XY X DY ORI7 R 11YT KXY
"2oP172 "9V in '3 ROV

il) because in "7y po0" it’s possible that no 725¥ entered at all
ii1) So
(1) Instead of comparing ¥ P50 to the 71 MW of 7vpa where 0°non don’t go
airlirimioh!
(2) the ®7n3 should have compared 2y poo
(a) to the 0°2777 MM of P27 2w *1w where NNX N22 HRYSH X2 XY
(b) Where mooin holds that X12¥ °215 go npI N2 even for XN*7IRT P50
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ANV AN 790 2" TN

0''02 WWVAT R'T RAPVT "% RN "D 1w P12 A"va n''p 39Y "2 N2 PR 7'
R'"97 '2IN2 9200w 2" N R 2R 'R D 'OIN2 2R BY 1IN W oY "D
7 FINO2 PED 2 ROUR N2 PED UPI RPIT INDY 7O MIWN2 Y9ER 0''0 D02 R
Haph 'DINT 2Now 7 2R IRYA PEP2 MBER TN NN 0''0 D52 PRPLR J12M1 0''0
5oy "1 IR PEOY MATY "D PODD INWD RPODD RUTT M7 RDT 207 MIMTR V2N
TR2AVR 1277 7IRY2 PO R UOR ATUR 210 D22 R''D RIIT 1D 120D INRT R2WR "y
ROR 9" 2n 1an WD IR YT ammamaT? DR N2 PP R)T BR 0''D o2

27T PN WYY 'R D2 2 awn wDD IR V'

See MooIN and 2"2w in 2°NAT NPT PID at 17
See also *"w in 777 7712V NOON at XY A7
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NOWXN X71 pT1a1 7y A" 1N

ORI RERO RDT IRD PO T AOWNR RDT I IP722 930 KD 20T "o pTay by a''ra
ROR DU X P72 DO 27 MRTD DYah TR A 112997 ORTY 2oy 19y Youab
I RD 722991 RERY XDT IRD pDo2 7 20 Bua KXY AR mowR KDY P72 DYa NXon7
7% 2RI KXY RDT 31297 PO N7 DWIAR MR N1 R'BT 2WNY RXMY RDT XD pooa
27IP I99Y RNMINT JIRMIW POO2 RHUR 7' ™R RDT MARP 7Ry wwaa pen
DD 7 MINT 1D WRh X2V Huraw MR PaR RIMY RP7 IND pDOb wnh v buaw

27T RY NNR T 2 D By AT

1) TP
a) A person who wasn’t Y1 P72 needs to be 2v2an his y1n to avoid being 121 on Xx»° 92
b) If he was already y»n pm2
i) He has no y»n so of course he won’t be X¥»° 522 12w
ii) But 1312777 he still needs to be Pvan his ynn
2) mwn
a) DNV 793 I QY 2WNIW XN 93
b) And a 7p>72 found no XMWY in any 23
i) TRn"M
(1) All three are MY RV
(2) Because "X 12°7 ARMILT T2 YTVW TV RNV KIT 22D IRM0 NpTRaw 027 92"
i1) 7127
(1) We’re 7210 that an 27 or an 120Y removed the RM™W
3) X
a) MWK K PTHY
b) 7327 PRH 7 RNN9D W7
4) mpoin
a) Xwp
1) For 7°X» " on 1p72
(1) Since he was P72 and didn’t find y»n what more can he do
(2) If we tell him to be 712 a second time he still won’t find any y»n
b) 710
i) °Rn " and 3121 disagree where there was no prior 210°2
(1) xn "™
(a) There is a W7 P90 of X¥»> XY because the p°72 isn’t valid
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(b) there needs to be Xn»RTM 702 to avoid this W? poD
i) 1327
(1) The np>72 was valid even though he found no y»n
(2) There remains only a 131277 210°2 210
5) Twnn of the y°n of mvoIN
a) "W 13377 YN NPTTAT ... RN M9 197K 301"
6) %"wan — K2 of the qwni of MooIN
a) Mooin asks
i) Maybe the case in fact deals with where there was already a prior 211°2

iv) And °&»n " says he needs to do only one more 777>72 and this extra 71?>72 needs to
be more thorough than the first 7p>72

b) nvOIN answers
i) Can’t be that there was a prior ?10*2 because
(1) If so the 72 2111 would be s only 71277
(2) and 7°&»n "1 wouldn’t need a second 71p*72
9) X"w1mn on the MX°2 of MOOIN WA
a) nMooIN asks
i) It’s correct that there was no prior 210°2 and 2°Xn " requires XN*7IRT 71002
i1) But
(1) The person will still need a 31277 fp>72
(2) And the X°wp of M»dOIN remains:
(a) Since he was p712 and didn’t find v what more should he do
(b) If we tell him to be 712 a second time he still won’t find any y»n
b) nvOIN answers
i) Once there was already 910°2 and the 12>72 21°1 is only 11277
1) 7°Xn " is 77 that the 7p°72 1s valid even though he found nothing
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D'2NIYN Y wynl *721n 2" TN

bOrnT RYR B''op 12 2WHOR KR 9100 TRT Dy awps K2 "o P 'l
"o R DIDY TN WIDIZ ATAAT 30 SO 2Im2 12N w'YY TRnnRn MWD By e

2"y 2YHOR BEAD 91997 YN Ny b e oy
1) *"wn

C) TORW

i) How is a person 721 100 2°¥%0 of 1711 that are Pawn with 100 2°3%0 of »1w wyn
d) nawn

i) He is Y2mn any of the Pamyn Yoo that are *1w wyn onto 100 new 2°¥%0
10) np01n as explained by X"wAmn
a) Two nrwp
i) First Xwp
(1) How can there be 71%°11 on 2°v%0 altogether

(2) A X m3in R¥°Xn X221 suggests that only NM175 — not X¥2°0 — can be used for
bAlrals]

b) Second Xwp

i) For the 70w of >"wA that there is 212°11 on 2°¥%0 why need there be 100 new 2°v50

i1) Instead:

(1) He can take from the existing 0°27v» 0°¥20 a number of 2°Y%0 equal to the
0°y20 of "W Wwyn

(2) And say:
(2) 210 77 WYn MR 19X ox"

(b) "R DY 19N 37 077 17w 2P 93 INT OX)
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YYN XXNI WY Na 2"t

5 B0y "D PaMPR I WY PO AT 20R PRWD Ban "o wy o7 s
7202Y 7Y 7Tan 7TTT "W ONEAY 'Y MONT 23 NDUO2 'Y 'Y OREMY "W MONT 923 NwMa UM
IR IRTY "W ORI Y IS PIRY ' OREMY "W I PR X927 p'Ea mowaTs Buwm

:5"'PY 2°ILPa KPR 23925p2 NYPNY K20 PN
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T
TV ANXY? A" T Ul Tvman ima pTa X7 ox "

BN WINIDKR Doy INTY D22 1A KPR PRTIAT 10 p7a KD AR a''Ta [2 Ty v nT
Han 2P RITY NWUORY RAWT TR 22 937 PV KD IRT DU MR ROTT 9D DY ONY
M2 19K IRTI2 A""RY DY K92 MR ORTIT 2IPITT 92T TN W'Y Doy "o N
IR YR TINDT 2370 RPOIDA RIRY KPR 2R KON 002 RPN DT IR baa
FP72 MY PIIND 23 RIRY RRWT IR QIR MRP DWW IS0 pH J1nRTS Duab

21977 STYROR SIONYT 2970 RPDIDA P72 K92 REMY RARD WD 10 PR 1ITIvORM

WAE® PIPTW NN V'O RN TV ORI MYR wwn Ty nRe a''7a "wena
FPOT2 T 12 ANPT NIRRT DY IR D22 Ay XOW 970 RO IpUTAnT nuw b
S"PW P72 PN TAT INTY D2 2R 2172 R DI u'a ' wny buva Xba uvn
RZ%O ART P72 TANY 7Y TorRbY My wwn YaR IR duab v XK IRTY %1 P72
S"MWNIDD MDA 19 IR NIWY AR 2 212 MMAY RYW 97DY IR D22 72 1R NN IN
MY 'Y ININ2 N27 D02 MNNARWTN TN TV 0YARY MPR wwn 2 INT Rps
2"
1) 7n7P7 on certain 0°1°7 for the VW of *"wA
a) 7708 MO°NR

i) ynmis Xn™RTA 799982 MoK at 't avw nonn for 11170 as well as for Xpot2a and
whether or not the yni was Hv1an

i) moD7 1YY N2YW yan is also 777582 MoK
b) M
i) there can be no 2 starting at 't nyw
ii) because ynn isn’t D78 2w M2 starting at 7 YW NPnn when ynn is 727082 N0K1
C) R¥» 521 R 72
i) The MR of X¥»* 521 187 92 applies only Jwnnwn
(1) Note that
(a) *"wn explains at :2° 77 that
(1) Not only can a person be n"awn until 73°wn
(i1) But also that 75°wn 7¥ 927 922 \nnawn
ii) Even qwnnwn the X¥n> 921 787> 92 Mok doesn't apply to
(1) e arxw yan
(2) vnmn that’s n2wn as soon as it’s found

(3) ynn that was properly 20121 by its owner before 't yw
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(4) 1 that are X9n "ov2
iii) X¥»° 921 787 92 doesn’t apply after oo
2) o°v7d of the Mww of >"wn and NMBOIN on YA NP7
a) “"woat.n7

i) D°Ma1 were yan Np>72 1PN7 to avoid being 121 on X¥n® 921 X7 2 for a XPO?A that
a person finds after 72°wn if he hesitates for a moment before he’s nawn it

b) mooin
i) D°Ma1 were yan NP>T2 1PNn so that 19282 X2 R
i1) Note that
(1) Since noo:7 1Y 12yW P is 0K

(2) there needs to be 7p°72 even after oD N7 5w MNO°R YW v 17 27wn° Row 70"
"19987

3) npYonn of *"wa and nmdoIn
4) >"wn — X1 of a NPY?MA in a MW between 7717 'Y and 1120
a) a7 "
1) there can be 1p°72 only until ' 710 because

(1) Although 1p>72 after ww avoids X¥n® 921 787 92 for a Xp01?a that a person finds
after 1>°wn and isn’t N°2w»n immediately

(2) Still there’s no p>72 after W when yan n9°IR is RN™IIRT NOXK and we’re wwn
that "1 9% RNR Xn7>7" while he’s p7a

b) 71121
i) "TvIn7 nK? T PP2" meaning until 72w
ii) Because 1327 aren’t 711 that o1 92°1% RNKR X197
5) nmpon
a) "TYan anKY v Pp7a" for 1927 means v woa
1) That the 7>72 21’17 continues even after 7oo
i) 129K N7 SW2 MO KW PN 12 29300 XoW 070
b) oKXW
1) Why doesn’t >"" say the same 70°w as MvOIN
c) n2wn as explained by X"wInn
i) Because we’ve established that
(1) for »"wn the purpose of ;1p°72 is to avoid X7 92
(2) and it’s only m»on who says the purpose of 712>72 is to avoid 79°9R
6) 2"wonn
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a) Xwp to"w"

i) It must be that the miwn deals with where the person was %v2an his y»n while the
van was still in his Ny before 't nonn

i1) Because otherwise it’s not possible that

(1) because of a wwn that the 712 might eat y»n that he uncovers by the P72
after 't n%nn

(2) 777 " would be 70X a 172°72 now when
(a) 7M1 is no longer available

(b) and 11p>72 is the only way to avoid the 0K of &¥»° 21 787 92 that would
result if a person after 7>°wn finds a Xpo1?a that he’s not n°awn right away

ii1) And
(1) since there was prior 212

(2) why does *"w" say that the person will be 72 on 787 Hv2 if after 712°wn he
finds a Xpoa and isn’t N°awn it right away

b) The y17°n of 2"wnnn isn’t relevant here
7) X"wann at P72 X2 oRY AT
a) Y17°n to the Xwp of 2"w1mn to *"'wA
i) The mwn deals with Y9002 X7
i1) and it’s not surprising that 77 "1 says that
(1) Because of a wwn that a person might eat y»n during 7p>72
(2) A7 " is T0IX a 772 now etc.
i11) Because

(1) In fact it’s more 72non for a person to find and possibly eat 11175 for which
he’s pm2

(2) Than it is to be wwn that in 2w av
(a) Not only will he find a Xpo123 without looking for it
(b) But also that he’ll be 7w a van before he’s nvawn it
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1) nvawn on 72°8 wwn for wn

'R X720
W NI | PROWAMANTYRR | W2 W NTRR | OWw P nap noup
mnpn wIn
AR WP RY wrn WII R amm
1w prRva ) PWIR R W 72 Rn "] 1320
[A7% "7 "nxos

2) moon

a)

b)

lanirhl

1) the &7 will discuss below how the nIwn on w7 are consistent with a 71wn here
on ynn

i1) but the X711 takes for granted that there are no N17°no within the n11wn of wn
themselves

TR
1) How did the X713 understand for w7

(1) why 777 ' says that 13°w>n for ny1pn IRW nN°¥p and for 7w 73 but not for mp
"HP1 and 1YW N0 NXP

(2) and why 7°Xn "1 says that 1°w>>n1 for *9p1 map and W73 but not for IRW NIXP
NP and PAYWT N0 NYRP

72wWn - the X3 assumed that:
i) For v m
(1) Both 7777 "1 and 7°Xn " are W n because there is no X7°09
ii) For 77%p in Pr>wi n°a
(1) 77 " and 7°Rn " aren’t w°r because there is X7°09
ii1) For 77°%p in nmpn Rw

(1) 77 "1 is w»n because NIpn IRW2A he doesn’t take X7°05 into account for
reasons not relevant here

(2) 7°x%n "1 isn’t won because he does take X7°09 into account even MnIpPn IXW2
iv) For "9 nnp

(1) a7y " isn’t wwin because he’s concerned for 20937 7w

(2) 7°8n " is wwn because he’s not concerned for 0¥ 9w

3) mwn of yan

a)

7717 "1 is M3 not to be yran P72 after 't YW nnn because 7T ' is Wi that ¥nPT
"H37H RNIR
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b) X1 ' isn’t 713 because he’s not wwin that “H3°m% RNR X197

YTRMT 7IwR NOOIIR WINT MIWH — 2 K92

W7 NN TR IR
WINDWSTA | PRAPWA M2 NTRR | M2pn RW NP | YW LRI map novup | MRS P npeTa
v myw "
N W R ALY pRvet ) e amm
ety W R W R W R XY TR

4) X3 here

5)

6)

7)

8)

a) Nwp
1) Why is it that
(1) n7v " is w>n for ynn that "1n 9377 RNX R1DT
(2) But a7 " isn’t won for 51 nnp that 10 537% RNR X197
mooIn
a) TORY
1)  Why doesn’t the X773 answer that
(1) For *%p1 nnp there’s 0°%31 7w
(2) For ynn there is no comparable oyv
i) mawn
(1) "X7°09 DW» M1 °NI7 W MY Mxn own"
(a) Where "&7°09" means 2°237 °21w 0wWwn
(2) And that’s why the 8773 asks why 777° " is wn for yan but not for 91 map
apiab}
a) Y1 nof Xan

i) a7 "M isn’t won for *2p1 mnp because there’s a MW that will remind people that
there’s an 71770K MoK

i1) A7 " is wn for yan and w73 where there’s no MW
R"wIn

a) Note that the y17°n of X271 explains in full the 2°1>7 of Y111 and the mentioned 2°1°7 of
wn without relying on the oy of 2°%37 *5w

S"pann

a) X217 holds that 7797 ' wouldn’t "oma" be 91 for 91 nnp based on 11w without the
717°% of some "7N¥" to be Y

b) Now
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1) Until this point the only o°»yv that we’ve mentioned that also imply a "7x" is
0°%37 *9w and 70977 NY*1n and My NN

i1) And
(1) since the only 77X that can apply to 71 nnp is 0°937 9w
(2) it must be that &27 holds that
(a) a7 "M is 9pon for Y91 map because of the 717°% of 2237 W 711X and MW

(b) 77w " isn’t 9p°n for ynan because although there’s a My°2 Mxn 71X there’s
no W

9) XM
a) XWp to K27
i) there’s no " for Pr>wi n°2 N¥p and yet 770 M isn’t WO
i1) so how can X211 say that 777> " is w>°n for y»nn because there’s no "W
b) y17°n of »ax
i) For a7 " not to be w>n it must be that 1 972
(1) And for *%p1 map there’s 11 %>72 but for yan there’s no "1 272
i1) For 7°X» " not to be w>°r1 it must be that there’s X7°05
(1) for *5 nap there’s no X7°09

(2) And we’ll explain later why 7°®n " 1sn’t w»n for y11 even though there too
there’s no X7°09

10) "wann and X"wHnn
a) Xwp
i) There is 972 for all cases of wn
i1) Why is it that 777 " is wn for w73 and for N™Ipn XY N°Xp
b) 7N
i) in order not to be w>n where >72 there needs to be a <7°¢ with 272 of
(1) 70977 nw>an for PR2WH N2 NEP
(2) 2°931 99w for *op) P
ii)) Now
(1) For %"wnmn
(a) These 1917°x are needed

(1) not only to explain why 1r%wi1 n°a n°¥p and *5p1 map are different
from w73 etc. as we’ve explained
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(ii) but also this that we can be %p°» for oW n°2 n°gp and *op) P
because the P917°% of X7°05 and 0°931 °2W provide a "7x" that makes
these “2°p not count as "orna"

(b) and in fact ?"wnnn says that that this 7w of »ax proves also that for the
70w of X271 based on "11°w it must be that 777 ' relies for 91 P on the
same N17°% with the avv of 2°737 "W

(2) for X"wnn

(a) These 191X for 2k with X709 ny°1n and 0°731 *9ware needed only to
explain why 11%wi1 n°a n°xp and *5p1 map are different from wo7a etc. as
we’ve explained

(b) It follows that

(1) There is no proof from *ax that X217 also needs to rely on a M of 7w
0°731 and "W

(i1) Since we’ve established for X211 that
1. Until the X773 realizes the X°wp to his 7vw from 1PA%wn N°2 NdXP

2. The avv of 11w is alone enough to explain why 777> " is w>'n for
vnan and w73 but not for 91 nnp

11) Rm3
a) Xwp
1)  Why is it that 7°&» " isn’t wwn for yan
b) y1n
i) "o 1PHY T mey X" has the same strength as X7°09 for %W n°a Ny
12) 5" wann
a) nTPn
1) We’ve established for n1901n that the starting X*wp of the & nx for 777> " is that
(1) Why is it that 777 "
(a) isn’t w>n for *721 nnp because of 0931 W
(b) yet is w»n for ynn despite M¥°2 mMxn
b) Xwp to MoHOIN
i) Since the X713 already realized that M1¥°2 nMx» counts as avyv not to w>n for yan
ii) For the later X°*wp of the X m3 on why 7°kn " is w»n for *2p1 mnp and not for ynn

iii) Why doesn’t the X7m3 answer that we’ve established that 7°xn " is % only where
there’s X709 and

(1) 2°8n " is w»n for *271 nnp because he says that 2°237 °7w doesn’t count as
NT7°0D

(2) He’s not w>n for yan because he says that 7172 n1¥» does count as X7°05
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c) yn

i) Must be that maon holds that neither 7y°2 M¥» nor 0°%31 *7W have the strength of
NT7°0D

i1) And the Xn3 asks that
(1) since 777 "1 nevertheless relies on 0°937 °7 not to be Wi for *7p1 nnp
(2) 77 "1 ought also to rely on 7¥°2 Mx» not to be w>n for ynn
ii1) And assumes also the reverse namely
(1) 2°%n "y who doesn’t rely on 2°937 °21w not to be 9 for *2p1 nnp
(2) ought also not to rely on M¥°2 Mxn to be %p°n for ynn
d) xwp

1) Now that we’ve established that the X*wp of the X723 to 777> " is based on the
"W of AT " to rely on 2937 7 even though it doesn’t have the strength of
NT7°0D

(1) In its explanation of the X*wp of the X713 to 777>
(2) Why does mp0In say that "X7°05 21wn 1M °NAR w° 2 Mxn own"

(3) When mooin should more directly have said that %3 2°n3% w> w02 mgn own"
"0v%37 W own

e) 717N
i) MBOIN means "K7°0D PYI NAY WO

ii) meaning “the same as if M2 M¥n had the strength of 0°%31 *9W that isn’t R7°09
wnn and still is enough to be %P1 for Py map”

13) X"wmn
a) The yyvn of D"wann is a pm7
b) And here is a further X>wp to ?"wann

i) IfR"wannis correct that X217 holds that 777> ' is 9P for 921 nnp based on "W
without relying at all on 2°237 "W

i1) How can the X n3 ask that
(1) 777 " ought to follow M¥°2 mx» that doesn’t have the strength of &7°05

(2) because 777 " follows 2°237 7w even though it too doesn’t have the strength
of X7°09

14) now of X"wann in MO
a) Partl
i) 779 " holds that 2°937 °2 has the same strength as X7°09
ii) This explains why M»0In can say "R7°05 D1Wn M °NI7 W1 MY Mxn own"
b) Part 2
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1) w2 mxn also has the same strength as X7°09
ii) Not by comparison with 0°937 > for *9p1 map

(1) Since M¥°2 mMx» has the same strength as X7°05 even for X271 who doesn’t rely
on 2273177 at all

iii) But
ccause means I
b MY MXN "BWS PHY N XY X"

(2) And we’ve established that in the X1p0n the X713 says that " ey X" is
sufficient for 7°X» " not to be w>°r for y»nr even though 7°X» ' relies only on
N7°05

Part 3
1) Xwp
(1) Then how do we answer the X°wp of 7"wann

(a) Why does the X3 ask “Why is it that 9°Xn "1 isn’t w>n for yan even
though he’s w>n for o1 map”

(b) When the X3 can answer that the reason is that 2°237 ¥ doesn’t count
as X709 while 71¥°2 M¥» does because 7y 2 N1¥nA is the same as "Xy X17"

il) 7N
(1) That in fact is the y17°n of the X713 to this X°wp at the end of the X0
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AT -IN' T
[N’ v'an "7 a"Tni a0 anx XX 2T IR TR AT Nivoin

YRWR By TN TIT MR DIMINM TR 10207 10 R AR 77172 [2 Ty XY 7
ST YA MR NBANRY 72 MU PR AT YIT 2T AR JIWKRN2T amataTh
YRR JARY DIXITY 1901 PRIMAIR PIVY WM TRWADT MAS RIT MITY I Py uem
TR 7D DOWOHWT 23 DY AR 77 NI0 7Y IR YRR O 3027 WRR RINAT (R

$P'INTY TR TN 2T IR TR AR YA

23aRD DO H'"'op "1 7T NIYYAN RTIDT KA 10 N2 MR KON 772 [R 7MY 20 07|
TRRY 20N MIN 'R2 9D D'RT WD WP KD TR YR OPURT "ARPT XON2 R
N5IN2 I RTIPY RN NORN2 T RINY 1Y 290 0102 "2 IR T 9% ' MR
32 IR TT OINPT KON V'R 9DTT RIT RVRIPT 20D RDINT WTRNAY YR YUR R "7

:2'197Y TR IMITY D7 "IERT 2''7 RN12TY 2 IR N

MYYS 2129 71577 KD 290w ARW MK 19 7170 190 R MR 10 A »''ab '
DI SNW3R WY "7 IAD MPT RANT DY ATY ROWP RY IRAKRT PRI R By "o Y
TBUR KD RPIDONT T NI NWASYA MITYT ORTY NN 72 7707 WA wwn e
AT N7 NS MITY NITT O9NNRD BT XD A" PMOTAT NIYYa RPN 1990 KDY 790
D129 "2 MWINW INIRT ORI ' 'AD 1P RAT T OIY MIDVY 1Y 0 KD 'S mINR NN

2T 'R RPODD 2R NI MITY T 7TERY "7 7Y mpud

1) mwn
a) TRA"M
) DP™p IMTY MYY WHWA MR TAR TV MIYW CNWA MR TR 7Y
i) 72°02 1MTY WHn2 IR TR TV WOWIA WK TN TY
b) amm "™
) DPY™R IMTY Wiana MR TR TV MIYW WOw3 MR TR TV
i) 79202 IMTY Yaw2 MR TR T WANA MR TR T
1i1) 2792 A0 YaW2) 712 AR Wenaw
2) X
a) "R according to *MRT X2°K explains that:

1) For 7°®n " who says nn*p 1017y where one 79 says Myw 22 and the other ¥ says
myw 22

(1) A person can be 17wn 7y1W
(2) And we assume that
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(a) the first 7v who said '2 meant 2 710 and the second 7¥ who said '3 meant
"\ nonn

(b) And either
(i) The first 7¥ was 790 by 17wn and the 7wyn happened at '3 norn

(i1) or the second 7¥ who said "3 was v by 1wn and the 7wy»n happened
at'a Mo

i1) for A7 "1 who says nn»p 1M7v where one 7V says NMyw 22 and the other 7¥ said
myw 12

(1) A person can be 17wn AYW AW
(2) And we assume that

(a) the first 7v who said "3 meant '3 710 and the second 7v who said 7 meant
' nonn

(b) And either

(1) The first 7v who said "3 was 7¥10 by 1wm 7yw and the nwyn happened
at'n nonn

(1) or the second 7¥ who said 71 was ¥ by 1w»n 7yw and the wyn
happened at '3 710

b) X1
i) To be mwn1 %1 based on 77Y7 1278 77V WO
(1) we need in each case to assume that

(a) the first 7v intended to be 7°vn that the 7wyn occurred in the start of the
7yw he mentioned

(b) the second 7¥ intended to be 7°v7 that the 7wyn occurred in the end of the
7vw he mentioned

i1) For 7°®n " who says nn*p 1017y where one 7V says Myw 22 and the other ¥ says
myw 22

(1) A person can be 171wn 700 MW "2 70
(2) And we assume that

(a) the first 7v who said "2 meant '2 norin and the second ¥ who said '3
meant 'x 910

(3) and their M7y is NP because we assume that

(a) Either the first 7v who said "2 was 130 by 17wn 10m Myw 2 and the 7wyn
happened at '3 710

(b) or the second 7v who said "3 was ¥ by ¥wn 201 Myw 2 and the nwyn
happened at 'a norn
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ii1) For 777 " who says nn>p 1m7y where one ¥ says nyw '3 and the other 7v said
nyw 12

(1) A person can be 171wn 00 MYW '3 ¥

(a) And we assume that the first 7v who said '3 meant '3 n>nn and the second
7¥ who said 71 meant 77 90

(2) and their M7y is NP because we assume that

(a) Either the first 7v who said "3 was v by ywn "0n myw '3 and the Awyn
happened at 771 710

(b) or the second 7v who said 77 was 7y by 17w»n 01 Myw '3 and the nwyn
happened at 'x nnn

3) Twna of the X3 — X0 ROPW based on 72°17% 912° 70K XKW M7V
a) PN

1) The purpose of being 211 a 27y N> with "7yw 1X2" is to make them subject to
a1 by later 11 27y who say an»i 1y at that 7yw

b) xwp
1) 0”7 can’t be onn if they can make the errors that we’ve mentioned
i1) since they can be 30
(1) True we were with you at the time we said that the 7wy» happened
(2) But we were mistaken and the mwyn actually happened at a different time
c) 1npa to the YN
1) Although X211 says that
(1) To be 2°xn the w1 of the person that 'k N> was 7°¥n against
(2) We assume that

(a) the first 7v intended to be 7°v» that the 7wyn occurred in the start of the
7vw he mentioned

(b) the second 7¥ intended to be 7°v7 that the 7wyn occurred in the end of the
7vw he mentioned

i1) still
(1) to be 2°¥n from 7177 the Mws1 of the 07y in 'k N>

(2) We assume that each 7v intended to be 7°¥n to whichever part of the 7yw he
mentioned that would best be 2°¥n himself from 15

d) y1n
1) For 7% " according to 271 who says a person can be v for ¥wn 701 Myw 2

(1) The first 7v who said 2 and the 7¥ who said '3 can both be amn by other o°7¥
who say an»n any from 'R nonn until 57 710
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(a) Because this period covers the first 79 for all Myw from '} through "7 which
are all of the possible myw this 7v could have seen the 7wyn and still have
been ny1v that the Twyn happened at any time during 2 7w

(1) Note that
1. Even though in general a person can be 7¥10 by 1wn 707 Myw 2
2. Still
a. because "WIR Yo XY X?H9 Xnnd 12

b. This 7¥ can’t answer to the 7»°m that he actually saw the qwyn
before '} nyw

(b) And this period also covers the second 7v for all myw from 'R through '
which are all of the possible myw this 7v could have seen the nwyn and still
have been 1¥10 that the mwy» happened at any time during '3 7w

i1) For 777 " who says a person can be 7y for 17wn 701 Myw '3

(1) The 7v who said "3 and the 7v who said 77 can both be a1 by 11°11 279 who
say on»n 1y for the period from '} n%nn until 1 7o

ii1) Note that
(1) Even though in general a person can be ¥ by ¥wn 01 Myw A
(2) Still
(a) because "WIR “YH XD K97 ®nnd 12
(1) Neither 7v can say that he saw the 7wyn before 'X 7yw and was ¥
(i1) because "WIR “Yv XD K97 ®nand 12

(b) And because 7717 ' already said in the 7awn that there can be no nvv
between 71 7YWw and 'T 7YY since 2712 7NN YW 77N Aa0 WHna

(1) the 7v who said 77 can’t say the 7wvy» happened in 't 7yw
4) moon at MR TR "7
a) PR
i) mnnnylis at agnm oy
i) so "2 nyw nonnis 7Ana Y1 oTp
b) Xwp
i) Partl
(1) just as we say "WIR ¥ K2 R2HD X 12
(2) we should also say WX *yu R? 1 N7 Y1 07p 12
i1) part2

(1) so for X271 according to 7°®» " if the first 7v said '2 and the second 7¥ said '3
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c)

(2) How can we say that the Twyn could have happened at '3 710 but the first 7¥
meant '2 n7nn and he was 73 by 17wn Non Myw 2

(3) When the 7v should have realized that the Twyn couldn’t have happened
before nm 2 at XA MY 2

YN

1) People aren’t 7¥10 between before v1 and after y1 only if they are 7°v» in terms of
before y1 or after y1

ii) But
(1) if the M7y is in terms of myw

(2) It’s possible that the first 7v was 71310 and assumed that ' 7vw began after the
71

5) X"wan at IR R a7

6)

a)

b)

d)

First nnpn

1) It’s ynwn from the words of MooIN that no person can be 7 between 'k 7YY that
is entirely before the y1 and nxmm1 2 7yw that’s after the y2

i1) So that for example
(1) A7 " who says nn*°p 117V where the first 7 said "3 and the second 7v said 71
(2) Would agree that 77°v2 1m7¥ where the first 7v said '& and the second said '3
Second nTpn

1) We’ve established for 7717 " that to be a1 an 7v who says '3 the 12> need to be
7y that N7 1y from '} Ayw through 71 nyw

Xwp

1) Why is it not enough for the 1°"1°1 to say an»i1 1nY starting at the beginning of 2
i1) Since the 7v who said 3 couldn’t have meant '} 7vw which is entirely before the y1
'aRbe

i) This is a special X7p to make it easier for 'R N3 to be 2°¥n themselves from nn1a

mDoIN at 827 MR ROX 7"7

a)

lak{zhl
i) We’ve established for X237 that

(1) 2°8n " disagrees with 777 ' and says that '72 928 7R 797 WHW2 W2 TR V"
"T9°02 1Ty

(2) Because
(a) an 7Y can be nyw at most 17WH 70N NMYY 2
(b) and in order to be a>pn their M7y we’d need to assume that

(1) the first 7v who said '3 meant the start of 'a
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(i1) the second 7v who said ' meant the end of '
(3) and

(a) since
(1) one of the 2>7v must have been myw "3 7w for the M7Y to be op
(i1) and this is impossible

(b) it follows that Jm7y 7502

b) xwp
1) Since each 7v can honestly make a nyv of up to ¥iwn 70n Myw "nw

i1)) Why don’t we assume that the 7wyn happened at 7xnm1 '3 7w and each was 730
by *¥m 7vw so that the M7y is NP

7) y1n

a) We don’t assume that two 7y were V10
8) X"wHnn at X217 MR ROK "7

a) nTpn

1) We’ve established for »ax that 77177 "1 who says n»p 1m7v where one 7V says '32
myw and the other 7v said myw 72 holds that

(1) We assume that the first 7v intended to be 7°v» on "2 710 and that the second 7v
intended to be 7°vy» on ' nonn

(2) A person can be 17wn AYW AW
(3) And also

(a) Either the first 7v who said "3 was v by 7wn nyw and the nwyn happened
at ' nonn

(b) or the second 7¥ who said '77 was ¥ by Wwn 7w and the 7wyn happened
at'a o

b) xwp
1)  Why didn’t m»aoin ask its X°wp also for 7717 "1 according to 2y
(1) Namely

(a) 1My should be n»*p even where the first 79 said nyw "2 and the second ¥
said nww 1

(b) because we can say that each 7v was 70 a 7w» 7yw and the nwyn
happened either at '3 710 or at '7 n%nn

ii) note that
(1) ®"wann couldn’t also ask this X*wp for 7781 " according to ax
(2) because 7°&n " according to 2R says a person is 11y only a 17wn
c) 1N
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1) 2K can hold that
(1) A7 " in fact says nn»p 1MTY for ' M AR '22 MR TR
(2) And
(a) the reason that 7717 " refers only to 772 IR AR 22 MR NN
(b) is to point out that 7°X» " disagrees even for 712 I 71X A2 MIN TR
9) mooIn at R "2 "7 as explained by X"wAmn at vRn "9 "7
a) We established earlier that
1) Although %21 says that
(1) To be 2°xn the wo1 of the person that 'k N> was 7°¥n against
(2) We assume that

(a) the first 7v intended to be 7°vn that the 7wyn occurred in the start of the
7y he mentioned

(b) the second 7¥ intended to be 7°v7 that the 7wyn occurred in the end of the
7vw he mentioned

i1) still
(1) to be 2°%n from mn1i the NMWwoi of the 0>7v in 'K N>

(2) We assume that each 7y intended to be 7°¥n to whichever part of the 7yw he
mentioned that would best be 2°¥n himself from n13

b) ®wp
1)  When the first 7v says '2 and the second says '

i1)) Why does the X3 say for 7°X» ' that they can be a1n by 11> who say an»i 1y
from 'X nnn until '7 70

iii)) We ought to be wwn that

(1) the oo themselves were 7910 by one 7vw and "' 7% 17p" while the nwyn
actually happened in '7 when the 21> weren’t there

(2) And although the first 7v can be o1 because he can’t be ¥ from 2 710 to
' n%nn that’s more than 7wn "on Nww '2

(3) Still

(a) The second 7Y can be 7310 from "3 710 to "7 nonn that’s less than "on Myw "2
1w

(b) And 1910 %°1W TV PRNM DTV PR
c) Twnn of the W% of MooIn
) 'Y My 912° 0 KD 22DW MR IR AW XT DWRom MIvaw o
i)"Y XD Do opn Hon

d) Meaning
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i) The &wp of Mo is only that if '77 7% 17p the 11> ought not to be able to be a°m
the first n>

ii) but accepts that the M7y of the first nd is 7%°v2 for these two reasons:
(1) first

(a) 7"2 can’t be 37 the person on whom the first n> was 7°¥» based on a 50
that the 1°1 were 71310 and the first N> wasn’t onn

(2) And besides
(a) for ' '7% 1p the first N2 is wnom because

(1) once the first 7v was 7°vn that he saw the 7wyn in 2 7vw he can’t later
claim that the nwyn actually happened in 7 7w and he was there

(i1) because
1. even if we were to say that the first 7v meant to be 7°¥» on '2 710

2. still to be 7y from '2 M0 to ' N2nN is a MY that’s more than "2
1w 00 Myw

10) X"wann at Kn "% A"y
a) XWp to Moo

i) Why didn’t m»oin ask 71 'a% 1P &n57" so that the first 7v also has a 7mvv that he
was present at the 7wy in "7 when the 721 were absent

i1) Now
(1) mooin surely recognized that in this case
(a) the same as where 71 '72 1P

(b) the M7y of '% N2 would be wr>m in the sense that 7"2 wouldn’t be 3117 the
person on whom the first N> was 7°¥» based on a po0 that the 7"°1 were
7910 and the first N> wasn’t ann

(2) but we have this X*wp on Moo

(a) why does mp0In suggest that it’s only when "7 '7% 19p that the first nd is
also wn>m because a person can only be 7y for 17wn o0 Myw "2

(b) When they’d be wamn for this reason also when ' 3% 1p

(3) Since the time from "2 n%nn to '7 NN is MYWw 2 and is more than "on MY '2
I
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IN7 pran' a'kn "7 A"

See X TAX 71"7 at (X A7
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2 qT

INYUNI DYV nYI0 DTRT Xaw'7 a7 a1

wWRARA "o MWPaL 129 5797 MYR 22 7t 199K "o RIwh 70 1'72 [2 Ty 2v 7]
TOINAT "D TR AR WRANT R PTIT ORTY RO TWRRT WP vawnT 2oy "o anan
PION KD FTRIPANTT AWK 1D STAT WAN RAY D120 KD RN 1R TINDT NI 3T RO

P "ITY 2WSH WY N5 TR WRMT RIT TONYTR

1) mnipn

2)

3)

a)

At R R 7"7 we established that
1) "X for A7 " says that 17wm AV WK VY
il) X237 for 7°Xn " says that 17wn 07 MYW "2 WK YO

b) And we also established that

i) A7 " says in the mawn that "27yn2 mAn Yawa) nAm2 man wena"

X773 at :X° 77

a)

b)

d)

TR
i) Xn™MRTM the ynan n?°OR MOK begins at 't nNonn

i1) 7127 made a apnn7 for the MYW in which a person can be 7¥10 and that’s why they
were N3 that ynan n9°IR is 770K

(1) For 7°xn " starting at " nonn

(2) For 7 " starting at 71 nonn
XWp to IR
1) Since for 77 "1 a person is VW by no more than a 1wm AYw
ii) why does the 7%°5% 710°R begin before 71 710
XWP to X2
1) Since for 7°X»n "1 a person is 7Y by no more than a 17w» 707 NMYW 2
ii) the 79°28 MO°X ought to begin at 71 nonn
¥17°N to the X°Wp to X211
1) For ynn a person won’t be 7310 as much as 1wn "00 Myw 2
ii) Because "27yna man ' namea man "

moeoin

a)

Xowp

1) The X°wp to ™2 for 777 " should apply even if a person could be ¥ more than
T oyw
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i1) Since he won’t be 7y past '71 710 when 7117 is no longer n1M2
4) X W
a) NMDdOIN assumes by its Xwp that
1) Since 7717 " says in the 71wn that 77m2a Ann '

i1) the 7wpn must have realized that 772 71 ' when the 7wpn asked his X°wp to "
7717 according to 2R

b) but
1) from the later X*wp of the 7wpn to X271 to which the X3 answers that 772 fann ‘7

i) it’s yawn that when the Jwpn asked his X°wp to »ax the wpn didn’t yet know that '3
imivamibyialsi
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1) X

2)

3)

a)

b)

c)

d)

e)

27 IR 7AM3 27 says "aTI 12 7997 ina nPYonn between PR M and A7 M and 120
5R5n3

First X°wp to 20
i) Why didn’t 27 say 7°R» 12 11977 because a mwn at .X2 17 is K71 "2 oMo
¥17°n to the first Rowp

i) The X773 at .83 77 says that the mwn there actually follows 2X°%73 127 because of a
xowp that the 83 calls "nm xowp"

Second X*wp to 27

i) Why didn’t 27 say 2X°93 1275 79971 because 78913 127 is ¥ between R» " and
T

¥17°n of XK N°vaR to the second X°wp to 2

1) 27 relies on a Xn*12 that follows A7 "

msoIn

a)

b)

d)

Xwp
i) Why doesn’t 27 say 7X°73 1275 170917 because of Inn ®°wp in the mawn at .X2 77
77N

i) mn Xwp actually teaches that it’s only a Poo whether the 7awn follows 2R713 12
instead of 7°Rn "

Xowp
i) Then 21 should at least have known the 73777 doesn’t follow 771 '
'aRVs!

1) We already established in answer to the second &>wp of the X713 that 21 relies on a
Xn»"2 to decide that 777 "1 7297

X"

a)

Xowp

1) This y17°n doesn’t apply at the point before the X m31 asked its second X*wp to 17
and realized that there is a Xn>"2 that is p0w for 771 "
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1) xnm2

2)

3)

a)

When noo 29 is %11 on naw then "N1MwY MRAL NN PO

mooIn as explained by X’wAn

a)

b)

Because the ynan 5w mmnn are TI2°K? 175917 anyway

1) it’s 7N to be 7w the MXHYY ML together

i1) And it doesn’t matter that this will be &nvn the m=17v

Here’s proof

i) °Rn " uses the same WY ("ML MIRAY NVAN POIW!) at D AT

i1) And there it’s clear that 7°X» ') means it’s 701 to be A7 them together

X"

a)

b)

"01° "1 disagrees with 77X "1 at :2 77 and says that it’s MOX to be Xnvn the ML by
19w the MY together with MRMY

ToRW

1)  Why does °01° "1 says it’s MOX to be MY XnvA

ii) After all the MY are 712K 1°9917 anyway

mawn

1) We still can’t be 7170 Rnwvn without a purpose — "nina"
Xowp

i) Then why to be MMV AW is it enough that 712°K, 7217 and it doesn’t matter that
the 119°7W is 0172 because 30 K1HY2 710322 RNPIRTA

v17°n
1) The 79w isn’t 012
(1) because 170 isn’t "1 2>72 and we’re wwIn that otherwise 1o 9217 RNK X197
(2) compare NDOIN on .2 A7 at WY AYIIR? IR "7
ii) But to be Xnwvn the 7M1 is DIN2 since 79°7W is enough to avoid 77°OK
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Nav 1wya X7 2a"1 "wn

DWW WRD WPT D PR Boy vy MR Y 2 "o »'ya RY a''7a v"'weea
FTOURAD PRITN WY ORI 1D NAwR MUY BN ORTY RIT AT OI5R 12 W TR RIT
9P FTINIRITR O 2D JIARTD NARA K2 NN PRT RRAPY DR KON »

1) "
a) N°217 39X won’t come on N2W 27 or on 2W 01" 27¥ because of 7w
b) It follows that
i) Ifyo°1 7" is %1 on naw
ii) 7oK will come neither on naw which is v"y 29 nor on 70°1 3™ which is naw 2w
2) R"wan
a) Nwp
i) 210 01% nawn MIw? oK
ii) So why can’t ¥1°>X come on naw that’s 21 o1 27Y
b) Y0
i) If the Pminn 17 applies " 75912 (23 77 NAW)
ii) the reason he can’t come on nNaw is the DWN% YN NRXY MO
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D017 IX? '’Rn A" TN

7919% 7''221 7''22 KPR 29IRD NDMT TanhRE @' N5 293010 97210 IRY X% 'oIn
FIABRR WA KT NN WNDR 2TON2T2 PIPTY RO DSy "D nxyd 19N 20ub
TMRY RPITT RO O''NRWR RARYY 25ph 91 7227 TN 722 KPR 2vIMRD N0
231 RITT 2R 7''22 KPR NNSMAT KT T PN 10T KD TIRDR 923 2317902 7''an)

:2'1Y7Y 2% w0 722 1ARYY 25Y% D197 KT T 1908 ane

1) X7naas explained by nvon
a) TP

1) To avoid 7wn a 7p21 can sell his NP5 only with 17 n°2 1w and only to a person
other than himself

2) moon
a) Xwp
i) Why may an 7an9% sell to a third party without =W and
i1) And why with X212 may she sell to herself
b) y1°n
1) she can sell to others without XMW because of X111
i1) The meaning of X111 isn’t relevant here
3) X"wann
a) Nwp
1) Moo wasn’t yInn why with X2 she can sell to herself
4) Twnn of mooin
a) Xwp
1) A X elsewhere suggests that
(1) a 7po1 for @mn° can sell to himself if there was 17 N2 N
(2) and that he can sell to others without Xa1w
b) y1°n

1) It’s 7"2 who were 7°9n the 175 and that’s why he can sell to himself with their
N

5) X"waan
a) Xowp
1) Moo wasn’t yn»n why he can sell to others without 17 n°2 nw
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